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—————————— <& BB- <X E - | HBE: - | <E B | ————HE - | E B | E: - | <& - | <& B>
WESES 47895 |[£H 5506 |&[F 8,459 |&[E 4874 |£H 7741 £F 632 |&[F 729 | 2E 42389 |[£H 436
1 EHM 51,727 | RE¥mHh 6,184 |BHH 10,039 |BRE;wT™ 5656 |REH 9274 =BT 801 |¥&th 988 |&LV=FET 45561 fgBm 571
2 #imm™ 51,182 |#E#&EE™ 6,162 | K¥H 10006 E¥m 5552 |BERH 9,246 | KFrth 797 | KiEMWH 979 E¥m™ 45542 |$riath 547
3| lisTh 51,169 | Z&E™ 6,119 |FhiBmH 9,822 |HH#ERETH 5434 ERBET™ 9,194 #FTH 793 | KBrth 966 |LLfizTh 45442 ||LfzH 537
4| SNV =FH 51,000 |FREETH 6,088 |ERET 9792 |[AEHEM™ 5400 |#FhiETH 9,126 3Rt 780 |HHAEETH 925 | 45364 |FRETH 528
5| EAXER| 50994 E=EBmwW 5942 |[lLOTH 9,384 |JIlIBTH 5306 |LLATH 8,834 | XM 776 | =B 911 |HREHREXER 45257 |&Rm 516
6| fRIZ[R T 50,370 |JI|&tH 5909 |H&HFH 9,341 |lLAOTh 5255 |=UETH 8,667 |HHT 755 |IEETH 888 |EX[Th 44423 R 494
7)1EH 50,298 |lLOTh 5905 | ZHET 9,336 |LLfzth 5237 |EHFH 8,504 |EHh 748 |[#ETH 885 |JIli&TH 44389 Bt 491
8| KiEMh 49975 |f#F ™ 5872 |#luth 9227 |HEHXER 5183 | BAHEM 8,496 |#NiIth M BEHET 863 | Ki#ET 44366 |SULM=FET 486
9| #EET 49942 \#FHiEW™ 5818 |EI&TT 9,186 |#FriET 5176 |f&RE™H 8,476 |FNFxILTH 734 |BEHT 861 |#&ETh 44236 |HI¥ET™ 485
10| B% [ 49927 |IEETH 5801 |{&fETH 9093 |ZERBT 5141 |#lUth 8,465 |IFETH 729 |EHTH 850 |tHAE/ETH 44208 |E2FE™H 485
11EBH 49821 |[EB™H 5784 |Ri&tH 9,056 |#&ETh 5099 |JKETH 8,417 |fH#ERTH 727 |#¥AITH 845 |E%¢METH 44044 |HEET™ 478
12|28 49,450 |FH#RT 5741 |]&th 9054 |fEETH 5084 |t2B&T™H 8,384 AHEM 719 |F0FRLTh 833 |EWUTh 43900 |KiEMH 477
13| Z U 49,429 |ERITHEBXER 5737 |HEtEET™ 8,990 |f#FTH 5079 |ERi&™H 8,350 |[LB&TH 7112 |[LB™H 830 =BT 43,880 |ERIEHBXER 475
14| FEH 49,389 LUzt 5,728 |dbAThH 8,958 |IEETH 5072 |[dbAmth 8,292 |Etth 689 |ELUh 797 f@ETh 43864 |IEETH 465
155%™ 49,292 |#&ET 5706 |/KETH 8891 |[LE™ 5072 |{&&t™H 8,158 |E Ut 675 |iETH 778 |FEMT 43810 |f8HT™ 464
16 FR&RTH 49,183 | El&tH 5618 |IKETH 8,859 |FH#&RTH 5070 |BRE;ETh 8,135 |FHfFmH 673 | REIGH 768 | ¥AITH 43,641 BET™H 461
17/ #3iImh 49,132 &R 5617 |f&8B&™ 8846 |[ERBET™ 5065 |fEIEETH 8,098 |[ELTH 673 | &t 765 |RERTH 43,442 |t ANTH 450
18]I & th 48929 | KETW 5609 |{EE™H 8,835 |&iRtHh 5013 3Rt 8,091 |F&RTH 671 |Fm&RTH 754 &Rt 43254 |)I|i&th 448
19|&RH 48871 |f2BTH 5586 |;Em 8,729 | ALMREtH 4,999 |BERETH 8,078 |dtAth 662 |JII&TH 753 |IEBTH 43,128 | ERmW 446
208 HET 48490 EERET 5583 |#NITH 8,724 |FEM™H 4989 |ufzTh 8,063 |Ei&TH 656 |Friamh 753 |Rth 43117 |®#ATH 443
2132w 48387 |FEMW 5578 | FIFRLTH 8,718 |[{l&Th 4981 |IKETH 8,004 |lLOTh 650 |FELTH 751 |E¥ATH 42900 HFF™H 443
22| ;R 48,293 |ELUmh 5529 |&tth 8,637 |JKFT™ 4963 |KHm 7976 & 645 | K% 743 | KRR 42,750 |#FETH 438
23| #XHETH 47938 |FHET 5512 |EE[TH 8595 |Ei&tH 4962 |WNITH 7930 |Fiath 641 |{EE™H 141 |FEETH 42655 |luOM 436
24/ flbET™H 47923 |BE[th 5504 |K&Hth 8,594 |f&fth 4,927 |iEWH 7,887 R 632 |f@Hm™ 732 | EEH 42530 |kKFETH 435
25 EmRh 47901 |#¥Ivh 5491 |FEF;Eh 8,586 |FxHTH 4915 |F0FrTH 7881 |f8HTH 620 |dbAmTh 719 [iETH 42501 |FHT 432
26 KBRtH 47,798 |f2fEtH 5480 |LLfzth 8,584 B[ 4895 |Etth 7853 {EETH 612 |#ALUTH 717 |#@ATH 42425 |F#E™H 432
27| FH=EH 47790 |KET 5459 | K:ETH 8,551 |&LVf=FmH 4,892 |®FHETH 7,844 |BEREATH 610 |E¥REH 676 |BEEM™ 423711 |RIRE™ 432
28| P 47,775 |SLM=FET 5440 |JI|&TH 8510 |EUth 4855 |BRFFTH 7,803 |;E¥ATH 608 |&iRTH 676 |REARTH 42308 |Etm 430
29 REARTH 47559 |fLiEmH 5439 |RkETH 8,477 | XK:EMH 4,833 |JIliG™H 7,781 |#ETH 607 |BItE™H 671 |[f#FT™H 41,903 | #Lw®R™H 429
30| El&TH 47513 L& 5423 |EZ=BmH 8,458 |;E¥ATH 4,785 |REARTH 7,755 |HIiE™H 604 |HEETH 660 |RIGTH 41,894 | 428
31|uAsh 47229 |deht 5416 |BRFFH 8,432 |REKTH 4,758 |;E¥aTH 7,606 |&R™H 604 |FXETH 654 |dbAThH 41485 | FEmwH 422
32/ AL i 46,901 |;E#ATH 5393 |#EFT™H 8,354 |dtAdNth 4,755 |KiEMH 7573 |G 604 |fEETH 654 |f&fth 41,355 @ 417
33 &R 46,835 |=iath 5376 |BEARTH 8,330 |#NiIth 4751 |EBw 7,560 |FAMETH 598 |FEM 653 |lLOTh 41,324 |t 414
34 BFFTH 46,513 |BHEH 5371 [;E#¥ATH 8,270 |Ei&FTH 4714 & 7549 |Sf1TH 597 |WuOTH 653 |;E™ 41,303 uiET™ 409
35;&mH 46,456 |HH™H 5328 | KKt 8,266 |HItE™™H 4,706 |#EETh 7,547 | FRRETH 594 |EpFTh 651 |[ELLTh 41213 |38t 403
6| ERET 46,363 |HfF™ 5315 |#&ETH 8,252 |Etath 4687 |*LiEvH 7,506 | #ALUTH 593 |f&fmHh 648 |HFFT™H 41,198 & 401
37 BT 46,362 |HI{ETH 5310 |EUmH 8234 |K&Hth 4667 |fEET™ 7459 | FEH 590 |JE#¥aTh 647 |EGTH 41,196 | K&H 400
38|[LET 46,166 |3t 5270 |fEE™H 8,091 |F&[th 4,655 |fHETH 7445 K&Hth 562 | K& 635 |HitE™ 40,838 |;EtATH 398
39 HiItE™ 46,148 |RERT 5251 |R&RTH 8,076 |#¥AUTH 4646 |ELUT 7431 | HEREAXER 554 |&LVE=FET 620 REIRE™ 40,780 |REARTH 394
40 @ WLtH 46,113 | E%MH 5249 [i&TH 8,037 |HAFTH 4642 |FHEETH 7,354 &R 553 |BEARTH 600 |{EET™ 40,736 |[LBT™H 394
M| S 46,053 |#2llth 5239 |fLiRtH 7991 |FHEEMT 4,629 |m#EBTH 7291 [ &WZ=FH 547 |EE[ETH 594 |Etth 40,677 &% 389
42 tEE™H 45868 | KHm 5228 |REILUTH 7939 |EHTH 4623 | KBt 7276 |fEETH 541 |&S%0H 591 |[LET 40,382 |FHAERET 385
43| FEFH™H 45702 |Ei&TH 5166 |[LB&TH 7899 fEETH 4,602 |[ELLTH 7256 |ERETH 518 |ERIRE™ 591 |&F&H™ 40,374 |[¥AITH 385
44 | FLIETH 45104 ;& 5154 |F&#ETH 7884 |&FFHT 4574 |SLM=FTH 7,253 |FEETH 506 |BLIR#ERRXER 590 |ALMEtH 39,665 |[{4EET™ 383
45 )KFth 44714 |fEET™ 5142 |&LV=FmH 7858 |{EEBT™ 4519 |[LB™ 7105 |f2&Th 502 |EI&TH 557 | K&t 39,467 |;ETh 382
46| Knth 44696 |FHET 5135 |€&Rth 7,756 |ETH 4508 |&iRth 7071 |JKFETH 496 |JKET™H 547 |fEET™ 39,348 |#aluth 379
47| ETH 44490 EEmW 5131 |E8[E™H 7,735 3Rth 4,490 |FEMTH 7064 |HEATH 493 |FHET™ 544 |JKEBTH 39,256 | KBt 369
48 ¥ IUTH 44276 | KRR 5,049 |RiI#ETH 7,688 | KBRth 4,252 |RiIkETH 7,027 |lufsTh 490 |lLUfgTh 537 |#aluth 39,037 |El&E™H 365
49 Ex0th 43,647 |03 4962 |f8FHm™H 7,375 | FFrLH 4,228 |HIEERXER 6,757 |=W&TH 451 |{8Bm™ 530 |&%0th 39,000 |El&tH 363
50 ARE@TH 43,102 | 4,900 |EHEEABXER 7,348 |RELLTH 4227 |FEH 6,677 |[l&ETH 441 & 491 F0FruTH 37922 |fEET™H 360
51 #08kLth 42884 |\ EHT™ 4648 |FEM™ 7,320 E%0th 4050 |$&Ht™H 6,670 |#LiRTH 440 |ALIRTH 480 |[f@Hm™ 37174 |AHEM 347
52| f8Fh 41,763 |f@aFHTH 4589 |EEITH 6,493 |f&FHTH 3,968 =&t 5944 |FEFmEth 432 |IBEF@™ 460 | FBET™ 37,015 |f1Fxuvh 340
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WESES 1,380 |£H 1,783 |£H 4018 |£H 2,138 |&F 4479 £H 1,118 |2F 3,723 |&F 763 | 2E 1,500
11 #i|a™m 2,486 |LLfzth 3,107 |uFzth 5974 |®#HETH 2959 | ¥ 6,548 |BEH 1,667 |BET™H 4974 ERBEMW™ 1,078 |&F&H&™ 2,113
2|l 2289 |[EREMW™ 2226 |EHEh 5089 | EKEtH 2,941 |BE[TH 6,238 |ERET™ 1,493 |El&mH 4842 K™ 1,004 R¥mH 2,099
3BT 2,077 |[luOvh 2063 ERBET 4929 |¥iETH 2839 |El&TH 6,185 |El&TH 1485 | R¥mH 4792 | KHtH 969 |#LiETH 2,066
4\ AT 1,993 |[MMITh 2,020 |K&HtH 4909 |Lfzth 2,743 |lufgtH 6,080 |Ei&T 1,372 | RI&H 4,656 |FxEATH 922 \ERE™ 1,958
5| KREmh 1,944 Ri&H 1,996 |EERE™H 4665 |BE[Th 2,723 |#HETH 6,034 |lLOTh 1,345 |{&EH 4607 |F#HE™ 905 |fBFHTH 1,934
HEI=h 1,941 Bt 1,989 |RkHET™ 4638 |REARTH 2616 |ERB™ 5903 EEFH 1,331 [lu@Aw 4292 |ALRTH 902 | KiEMH 1,920
1 85HT 1,902 < KHm 1,985 |IXET 4571 | RI&™H 2615 |FiBETH 5779 |Etath 1,328 |&ft 4283 |REATH 891 |IKET 1,909
8| #L1RH 1,897 dtAdMT 1,947 |El&H 4568 |ElFTH 2592 |EHM 5724 |#iBth 1,322 |lLUfgm 4233 |teBm™ 877 |BRFm 1,904
9 BT 1,614 |IEEH 1,921 |¥iBm™ 4539 |fB@BT 2579 |EWmH 5692 |{£&T™H 1,308 |#MITh 4193 & 867 |/KFM 1,866
10| I B 17 1611 =R 1912 |ELUmH 4519 ERE™ 2506 |RI&H 5434 |BRERTH 1266 [t@BT 4115 | KiE 866 |El&FTH 1,864
1MiEEH 1,607 {&EmH 1912 |=&H 4466 |FERET™ 2490 |fBETH 5353 |IKETH 1,250 |F0gruth 4004 |Em 864 |##ETh 1,861
12| &R 1,503 |Etmh 1,907 |luOw 4383 |;EWTH 2398 Rt 5082 |[dtAdTh 1,243 ;& 3956 |EI&TH 860 |BX[th 1,852
13| KiEH 1,498 |iZEm 1,894 |FFRLT 4335 |SLVf=FT 2,389 |K&Hth 5066 |#NITh 1,223 | K&t 3913 |#ETh 856 |JIlI&T 1,833
145%™ 1463 |REXRT 1,873 |{&&m™ 4220 WO 2322 |REAXRTH 5061 2B 1,200 |#3lUmh 3875 |Etth 850 |iETh 1,785
15|€RH 1,401 |F&RT™H 1,859 | ITh 4213 |EWUm 2299 |;E¥aTh 4953 |lLfzth 1,192 |Fiat 3,837 |dthth 837 Bt 1,785
16| & %0 1,362 | K:ZEmH 1,853 |#alUth 4184 & 2,273 |l 4878 | K%t 1,190 |[ER™ 3810 |JKEFT™ 822 |HI#ET™H 1,716
17 #3luvh 1,328 |ZERE™ 1,839 |JKPETH 4,156 |ERIRHBXER 2,259 |Ri#BT™H 4743 |;Em 1,189 |ERET 3,777 |luth 811 | K&Hmh 1,667
18|BiI4E™H 1,321 |#ET™ 1,833 |&H&HE™ 4,136 |JIliETH 2259 |&LVf=FTH 4,735 |#alum 1,154 iR 3,766 |HitETH 808 |#Rth 1,664
19| F#=mH 1,303 ELUm 1,794 |#A¥R[R™H 4111 |f2R@™H 2,248 [i&ETH 4717 |REKRTH 1,131 |[fEE™ 3,755 BFFTH 808 |fEET 1,638
20;&m™ 1,303 &R 1,791 | =T 4110 [{&EEw 2221 |#LiEvh 4702 BT 1,104 |dbAinmR 3,744 |fBHTH 800 |FOFxILTH 1,627
21L& 1,301 |[EE&mW 1,772 |&RT 4093 | K%t 2217 |$&8FHm™ 4656 |fBFHm™ 1,099 |IEEBTH 3,690 |&LV=FmW 799 |WifgthH 1,625
22| &5t 1,297 |FiEmwh 1,762 | 4087 |FEmw 2203 |BET™H 4655 |fAET 1,094 |FxETH 3633 =BT 798 |REATH 1,606
23| B RFTH 1,288 #AUtH 1,760 |#LIRTH 4076 |dtANTHE 2,197 |&iRth 4559 |Fn3xuth 1,094 |fET™ 3,506 |JIlU&TH 791 |EWTH 1,601
24/ lLAT™H 1,281 & 1,757 3Rt 4035 |HitBTH 2192 |fEE™ 4,439 |FXHETH 1,089 | ZHEM 3501 |FEm 789 |FHFERETH 1,588
25| BIRET 1,280 &R 1,746 |REARTH 4005 |fEET™ 2174 |$&[™H 4397 =B 1,087 |f@HTH 3459 |HH{EETH 776 | RERTH 1,532
26 B 1,278 | E&H 1,745 |E¥ATH 4005 F&#ET™ 2174 ;& 4396 |E¥aT 1,085 |FEATH 3,442 |lLOth 775 | &EWV=FEH 1,517
27 KBt 1273 E¥mH 1,738 | R¥mH 4002 | KiEt 2,142 |HHEET™H 4362 |fERTH 1,074 |;E¥AT 3,402 |EEMTH 769 |#aluth 1,515
28 t&ETh 1,251 |fEE™ 1,737 |f@HTH 3991 |JKETH 2,128 |[{4EE™W™ 4318 |tHEET™H 1,058 |HitE™ 3,364 |ERRTH 762 |FXETH 1,499
29 FEH 1,241 | #F™ 1,712 |E%REmH 3971 | B&H™ 2116 |J)KE™ 4302 |(fEET™ 1,052 |ALiETH 3,337 |#EFHm™ 756 & 1,496
30| &R 1,228 L& 1,694 |2HEM 3947 |HFFTH 2075 |FEwH 4274 BT 1,050 |&FE™ 3,336 |#Fiam™ 754 EBH 1,490
31| RHEAXEB 1,223 |Ff0gru 1,684 [T 3941 |#&ETh 2050 |F#ET™ 4172 | AHET™ 1,038 |JKFET 3,321 |#¥Ivh 754 \#hi|ET™H 1,487
32 b hmth 1,198 |&LMV=FmH 1,674 | KEMH 3874 |tH¥ERET 2,037 |REHXED 4156 &Rt 1,035 |fB#R[RTH 3280 |Ei&th 751 |fgfEmH 1,479
33 f@HH 1,195 |f8Hm™H 1,664 |HETH 3822 =B 2,030 |#EETH 4139 |JKPT 1,027 |ZERET™ 3245 |fEETH 7471 [EEBH 1,477
34 ;EMATH 1,182 |f2@B&m™ 1,653 | KR 3,782 |;EMH 2024 |#TITH 4134 |FEmH 999 |[RELTH 3,228 |IEETH 743 | R 1,477
35| KBrh 1,170 | ZHE™ 1,645 |ZRWM 3,722 |R&RTH 2,008 |dbAdMTH 4082 |t&ETH 996 |ELUh 3227 |BEwH 742 |¥MITH 1,475
36 REATH 1,149 | tA#E[RE™H 1,637 |[dEAuiMm 3,701 |f&FHTh 1,996 |[lLAT 4073 |t 995 |m&RTH 3209 |BIRHEBRXER 738 |luATh 1,436
37 AT 1,140 JE¥T 1,631 |EEM 3693 |IEETH 1,966 |ZHEM 4003 |[EBTH 981 |FH#E™ 3201 k& 737 |fEET™ 1,384
38| MEHEET 1,103 |FHE=EmH 1,627 |fFT™ 3621 |[EBT™ 1,933 |HEFmH 3,994 | ALMRTH 974 | KBt 3,170 | #luth 731 | KBt 1,374
393k 1,091 |ET 1,624 |#ET™ 3561 |#NITH 1,921 |IXETH 3994 &t 968 |t&ETH 3096 |ELth 729 |dtANTH 1,361
40 LB 1,084 | HIREBXEB 1,624 |FHETH 3548 |[AHEM™ 1,905 | K#EMH 3819 |E&Ith 964 |K:ETH 3,090 | FnFLth 722 |EUTH 1,346
M \fgRTH 1,079 | FEmH 1,621 |ERFABXER 3544 | &Rt 1,901 |[LBT 3,704 |K:ETh 961 |FEMH 3020 #FTH 718 E#ATH 1,275
42| B & 1079 | &S&T™H 1616 |f2ETH 3,533 |#LiRTH 1,898 |#AUTh 3,615 |HitET™H 957 |BH&HFH 3007 |{&BH 704 | BELH 1,254
43 R 1,034 | KFxm 1,609 |f2RETH 3531 |#AUTh 1,885 |##F T 3599 |EE[th 956 |f&fEm™h 2,998 |f&ffm™H 701 | FRE;ETh 1,208
44\ )1 I&H 1,024 |t&ET™H 1,602 |&%0mH 3522 |FEFmT 1,859 |40/ 3555 |ERFFTH 939 |JIlisTH 2905 |[LET™ 653 |FEH 1,200
45/ ¥AITH 1,017 | RifE™ 1,592 |JIl&mH 3506 |Etath 1,854 |FREF;m 3486 |FERETH 938 |fhETH 2,899 |E&Ith 650 |FRIEHRXEB 1,198
46 [ LU 1,012 | #LigmH 1,575 |FEm 3485 |MHETH 1,829 |ZH#&RTH 3,399 [{lETh 935 |[LE™ 2862 BEEM 645 |fHETH 1,140
47 Ko 1,000 [JKFET 1,567 |SLV=FHh 3,465 |t 1,825 |&#m 3,360 | KFrth 921 |HFFtH 2810 |F&#EH 617 |F#=H 1,124
48 | AR EATH 998 |FR[ETH 1535 |[GET 3,344 |BEHH 1818 | LR 3,292 ]Il 915 |€RH 2,769 |Eth 614 #ZHEM 1,084
49 FFx LT 989 |JIlIGTH 1,516 |ERfFTH 3,305 | KBxth 1,748 3Rt 3,280 |R&RTH 906 |ARERTH 2,711 |;E¥ATH 608 |=x0THh 1,084
50 B HE™ 903 |ERfFTH 1,504 L& 3113 |&4%0mh 1,747 | KR 3269 |&ELV=FEMW 877 |=&0th 2674 /R 592 |E&RETH 1,076
51 fEE™ 890 | H&Hm™ 1,367 |HIfE™ 3,104 |Fth 1,606 | 3040 | HEHRXER 871 |HEHRXER 2,605 |&Rth 545 |[LETH 1,043
52|&LV=F T 819 |BRZEE™h 1,314 |BRZE™ 2,684 |FnFgrILTH 1,540 |F0grum 2939 | BH&HF™ 866 |=L\i=FETH 2561 | KFrth 533 |&Rth 782
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JESE) 800 |£H 1,380 |[2E 741 | £HE 1,653 |£H 1644 |&E 2,468 | 2F 2218 |&H 2244 | &E 1,345
N=Tiil 1,250 |[EET 2218 |IKETH 834 |IKETH 1,954 |f2ETh 1,903 |#iEm™ 2931 |FEEH 2845 |FHET™ 2,799 |JIlisTH 2,054
2 1,043 |fEET™ 2,103 | AEHEM 831 | KFrth 1,945 |$iam 1,890 | KPR 2,898 |HitE™H 2,833 |fAEET 2,724 |EHRTH 1,762
AT 988 |ZRTh 1,940 |[dbAuiMm 825 |HHHERET 1,944 |EWmH 1,867 |EEAT 2,883 | #NITH 2,721 | RiI&H 2,647 HIEHAXER 1,748
NI 986 | =#ATH 1,935 |REARTH 818 |#&iRth 1,863 |BEATH 1,817 |EWT™H 2848 |&LV=FEW 2,646 ¥ 2601 =BT 1,716
5 &#h 978 | KBrth 1,917 |FREHBXER 814 AHEM 1,852 |EET 1,802 |{&&E™ 2,766 |ERFFTH 2,589 |gi#E™H 2581 |#ETH 1,697
6| =B 962 | KiETH 1,804 |EHmH 809 |#himmh 1,840 |&R™H 1,752 ;& 2,750 |tHEET 2583 |SLVi=FmH 2577 |FEH 1,692
7| EE™H 951 |REWTH 1,774 |$iBTH 798 | KiETh 1,832 |#¥MImh 1,746 |{ERE™ 2,749 |#&ETH 2513 |IKETH 2515 |giitE™H 1,659
8| KBh 949 |fHETH 1,702 |&R 791 =BT 1,763 |lLUfgh 1,742 | fB#E[R™H 2,746 BEARTH 2438 |EBRFtH 2503 [E#ATH 1,613
9|/ 945 | FNFrLTH 1,692 |FEH 788 | KHoth 1,745 | KRRt 1,740 |EI&™H 2,744 |FETH 2419 |FEmwH 2,449 |FHIEET 1,609
10| & %0 937 |EEh 1,671 |F0FxLUmH 787 At 1,744 {2 1,736 |f2ETh 2720 EEHH 2414 | EHH 2446 | KiZETH 1,591
11| KEH 931 3Rth 1,671 |f2REmH 777 \F0FH 1,741 |IEETH 1,733 |[#alUth 2,713 | RI&tH 2,400 |EEARTH 2424 |t 1,587
12luAh 915 |#dTh 1,667 | KR 772 | ¥AITH 1,725 | KiZEWH 1,724 |IHETH 2675 |HERHAXER 2,363 |#EET™H 2417 |F&[@tH 1,475
13| F#=E™H 910 |FFH™ 1,550 |EBIRET™ 772 |EEARTH 1,719 |El&H 1,721 WLzt 2,665 |E¥[ETH 2,353 |ERf™ 2,403 |&LV=FEWM 1,471
14 BT 909 AR 1,525 |H#RTH 770 | #%fET 1,701 |f@Hh 1,719 | F#Hm 2,660 |IFETH 2,330 | KiETH 2,395 fHET™ 1,467
155%™ 889 |Etath 1,482 &A™ 763 |i#ETh 1,692 [{&&m 1,716 |RI&H 2,627 |;Et¥aTh 2303 |[ERBEW 2344 | EH™H 1,451
16/ fEEm™ 884 |¥AiTTh 1,469 |SLV=FTH 762 |3Rth 1,685 EEREM™ 1,712 iRt 2,627 |JIlGTH 2,301 |EE[MtHh 2,321 ¥ ITH 1,404
17/ #3iImh 872 |luAth 1,451 |&%0mH 759 |{E[™H 1,662 |fA¥R[R™H 1,709 |#AITH 2618 |f2B™H 2287 |[{4EE™™ 2,320 [{iEh 1,391
18/db AL h 855 |REATH 1,443 3Rt 759 |RERTH 1,655 |F1FrLm 1,705 |EIRET™H 2618 | K:FEMH 2,262 |HEEXER 2,292 \FIFrLTH 1,382
1928 855 |&%0th 1,419 | Ko™ 758 |fHETH 1,648 |[lLAT 1,703 |F0FrLTH 2,558 |f&ffm™h 2240 =BT 2284 | BAGLEM 1,361
20| =#&BTH 844 |KHth 1414 |lLAOm® 755 |REEXER 1,642 |RkET™ 1,701 | E=R™W 2552 FERET 2,234 |)II&TH 2,281 | KFeth 1,352
21 5&Hh 841 |dbhdvh 1,402 |#ETh 751 | #RE@TH 1,641 |[de Rt 1,700 [E¥ATH 2534 |dbAh 2232 KB 2228 ;&M 1,338
22 B HETH 820 |FH#RETH 1,400 | KiEMH 745 ERE™ 1,639 | Ri&m 1,699 |£R 2519 =Bt 2214 |[dk AT 2220 FHET 1,317
23 FIFRLH 806 |E%[Th 1,375 |&=Bm 744 | FEH 1,635 |#ALUT 1,694 |lLAwH 2512 | E&th 2203 |Ei&TH 2,212 | ALWRH 1,304
24| REARTH 781 |fBBTH 1,370 |#\TITH 731 |RiItE™ 1,633 3R 1,685 | K&om 2511 | EiEH 2,193 [;E#TH 2211 |)KETH 1,302
25| B 779 |[{E[™H 1,359 |fA¥E[R™H 729 |;EMATH 1,631 |ERW™ 1,670 | KiEMH 2510 |[{E&™H 2179 |$BBT™H 2209 |EUth 1,296
26 fERE™H 777 BEEM 1,351 |JI[i&Th 729 | Ri&H 1,622 |ALIRTH 1,666 | 2502 |JKETH 2175 |Wufgth 2,164 |IEETH 1,288
271 ERET 769 | ELUTh 1,329 MU 727 |)IIGTH 1,619 [;EmH 1,665 |#LiIRT 2,472 |Wufzth 2,130 |E&0th 2,159 |[LBE™H 1,285
28L& 769 BT 1,327 [E¥ATH 725 |BETH 1,602 |FHEmH 1,663 |dbAuinmh 2471 |&iR™ 2,108 |fHFET™™ 2,157 |[EUH 1,244
29;&m™ 755 EBRETM 1,303 |RI&mH 722 B 1,585 [E¥ATH 1,651 | ¥ 2,469 |BE[th 2089 BT 2,096 |FATH 1,237
30|1&ET™H 753 |Gt 1,289 |BE[E™H 720 |EX[ETH 1,580 |[GET 1,646 |f@HTH 2,455 3Rt 2,089 | 2,090 |BfFH 1,232
31 Wik 745 |iZ#ETH 1,260 |BiET™ 716 |=%0th 1,571 |2HEW 1,645 |ELUT™H 2,448 |MHETH 2079 |K&HtH 2085 |lLAOTh 1,226
32 B 742 |l 1,238 |FHEMH 714 |#EETH 1,569 | K&Hm 1,629 |RkHET™ 2444 | Stath 2073 |&Rt 2,077 |fEM@™H 1,213
33 3BT 738 |f@HTH 1,227 |BRRFTH 114 BT 1,552 |ERfFH 1,628 |H#TH 2420 |[LBET™H 2,067 [l&ET™ 2,067 |&Rth 1,206
34|3LV=FE T 734 |HIFETH 1,223 ;& 708 |luATh 1,548 |ELUH 1,626 |FKFmH 2377 |#hiBT™H 2,067 |t 2,060 |Fri&ET™ 1,203
35| R AR X &R 724 |fEHEET 1,219 & 704 u&ETH 1,542 |FH™ 1,624 |FHEmH 2,311 MbETH 2,065 |BEH 2,051 | EStth 1,175
36 RIG™H 724 iETH 1,219 |[#FT™ 703 |B&Hh 1,540 |ZR#&RTH 1,619 &t 2,303 |R&RTH 2062 |f&[™H 2039 |fEET 1,156
37| 5B 711 |#EETH 1,203 |f2ET 697 |BRFFTH 1,533 |&%0H 1599 |[LET™ 2299 |EWth 2054 |#FhiBET™H 2027 |{&EBTH 1,116
38| FEH 711 |KETH 1,173 |BRZE@H 695 |#AUTh 1,528 |MLUT 1591 |KETH 2,281 |[EUTH 2,042 ¥l 2,023 |WufzTh 1,102
39 fEHH 708 | FETH 1,154 |[ET 690 |[ELLUTH 1,517 |fEET™ 1,565 |2HEM 2279 |FEFHm™ 2027 |BAEHET™ 2,022 |EEMTH 1,102
40 B FFTH 707 \#FiaTh 1,154 | E¥ 689 |f@HmH 1,514 |#Eh 1,539 |ELUTH 2,268 | K&Hth 1,998 | KBrm 1,981 |F&HT 1,073
41| Kot 704 | HEREHEXER 1,136 |fEEm™H 684 |Etath 1,489 |[#F ™ 1,524 |[fEE™H 2,264 |HE#HM 1,996 |ELUH 1,970 |#alumh 1,064
42 R 700 {EET 1,135 |ELUH 682 |KE¥rh 1463 |HItE™ 1,512 |&%0mH 2242 BEET 1,935 |ZRERTH 1952 |f8BT 1,057
43 EETh 696 |JI|&TH 1,125 |F&HT 680 |LLfizTh 1457 |JKPETH 1,510 |[#ETh 2,236 |#¥AUTH 1,935 |H&HEH 1,933 | Ri&m 1,030
44\ )1 I&H 694 |EX[TH 1,108 |ALiRTH 679 |[{EE™ 1,456 | 1,502 |ERETH 2,224 | KFrth 1,934 |[ETH 1,930 |BRZEET™ 1,011
45 )KFth 678 |ERRFTH 1,099 |f@#H T 676 |f@BTh 1,454 [LETH 1,500 |Hi#ET™ 2211 | BEH 1,904 |BRZE@TH 1,926 |HEARTH 997
46 #L1R™H 669 |&iRth 1,096 |[LUfzmh 672 |ELV=FTH 1442 |FEH 1,493 [LETH 2,193 |fEET™ 1,876 |f@Hm™H 1,919 e At 997
47 FEEERET 664 |EW&TH 1,089 |E&H 670 |[LBET 1,437 |5 1,490 |ELM=FHh 2,159 |f&FH™H 1,872 ;& 1,896 |=%0TH 974
48 ‘=I5 TH 641 | #L1RTH 1,043 |kKFET™ 658 |FHE™ 1,437 |FREHBXER 1,467 |JIl&TH 2,136 |i#ET 1,851 |FFrium 1,872 | K& 968
49 | BE[E 635 |SLVE=FTH 1,039 [{f&&™ 658 |/KETH 1,416 |E2RE™H 1,463 |FEH 2,128 |FATH 1,826 |fEETH 1,837 BT 966
50 #k AT 634 | REFfth 1,013 MUt 651 |#LiRtH 1,388 |EULv=FH 1,441 |EEFEEXER 2,110 |luOvh 1,819 |ALIRTH 1,795 |E&H 964
51 &R 632 |FXHETH 999 |&Etth 645 |ElFTH 1,380 )1l 1,396 |#Fm™ 2,103 |#Li®Eth 1,794 |lLAm™ 1,792 |#8Hm™ 913
52 ARERTH 547 | FREFmh 689 |FXETH 618 |FkHET 1,377 |BBE;™ 1,030 |BBF;™ 1,241 |#0FUmH 1,662 |FkET™ 1,619 ERE™ 892




HAE - FRRRE

20224 (M4 %) ~20244F (HF16F) Fi5

DZ TN AL—ILy AL—ILy g x—7 JEVBR S R SUbT oK-=h th oD SRR R

———————— HBE: - |——<& B |——<HE: - | K E - | E B | E - | < E /- <& B>

0 £H 1,101 |2EF 1,418 | £H 1,241 |2E 4074 | £E 2571 |2E 1,810 |£EF 5367 |[2E 14,157
1)1 H 1,638 | #iam 1,826 |#iam 1,647 |BERE™ 4782 |f&[™™H 3,390 |Euth 2577 |BEMETH 6,649 |BHEREHXER 16,565
2| mERT 1,477 |BEmH 1,713 |EBIRET™H 1,500 |JIlI&TH 4,759 |FRf™H 3,160 |f&FHTH 2,374 |#ETH 6,564 |SL\=FmH 16,222
3R 1,426 |¥MITH 1,613 |EHEH 1,498 |SLV=FTH 4,729 |F’EE™H 3,099 |EEAXTH 2,362 |fRET™ 6,364 |#BIEETH 15,947
4| FEMH 1,385 |lLUfizTh 1,602 |f2ETH 1,494 & 4,641 |FREAXER 3,040 |#FiBT™H 2,262 | KBt 6,277 |HEETH 15,932
5/ fPFTH 1,359 E¥mH 1,583 |EERETH 1,453 #ETh 4619 |FEMH 3,003 |IEETH 2237 |} 6,214 |)Il&TH 15,749
6| fRIZ[R T 1,352 |B&#[@T™H 1,577 |¥ It 1,451 | 4471 |EWUTH 2973 |lLuATh 2232 |BHF™ 6,196 |FEMH 15,361
TLE™ 1,350 {&Em™ 1,562 |lLUfsTh 1,409 JE#T 4433 |dErdNTH 2941 &Rt 2,161 |S&tH 6,184 | Ki#EM 15,201
8 ZEBE™ 1,329 |£R™ 1,555 |&R 1,367 | ERIEABX AR 4,409 |F=#RTH 2919 8B 2,105 |#¥AITH 5943 | E¥mh 14,998
9;EtaTh 1,325 ERET™ 1,543 |&F&HT 1,362 |HIET™ 4352 | E¥Hm™ 2,867 |¥ATTH 2074 |&iRt 5928 |lUFzTH 14,821
10 48K 1,297 \BERE™H 1529 |ELUm 1,356 |E%RET™ 4351 |;E¥ATH 2,858 |LLUzth 2,063 |FERT™H 5875 |Fiath 14,780
1130k 1272 |[&#H#H 1,525 | E¥ 1,327 |FH=tH 4,325 |Ri&TH 2,857 | El&tH 2,045 |EiETH 5840 |F#iEmh 14,775
12| K#EM™H 1,263 |BEATH 1,520 |&#t 1,319 | FEm 4291 |&ULV=ET 2821 | KEMH 2026 |BET™H 5,785 |m&RTH 14,735
13| R &R X &R 1,217 |#LIRTH 1,517 |#LIRTH 1,318 |f2ET 4278 |BHET 2810 BEH 2019 |t 5736 |f#FTH 14,688
14| KB 1,208 2B 1,512 |Eth 1,318 (&R 4242 |{EEB™ 2802 |[{EETH 1,991 |lLfigth 5718 | KBt 14,626
15;&™H 1,197 B 1,497 [{&EE™ 1,292 | KPR 4229 |#FhiE™H 2782 BAEET 1,985 |ELUH 5672 |Z=BT™ 14,624
16 [ #8IH 1,192 &% 1,470 |F%RE™ 1,287 R¥mH 4208 |EBT™ 2,752 &M 1,946 |FFrLTH 5,626 Rt 14,494
17 REH™ 1,180 |FAHET 1,445 |;E¥ATH 1,286 |ELUT 4207 |fHFETH 2,743 |;E¥ATH 1,946 |#iEm 5617 | BAEETH 14,480
18|&LV=FTH 1,142 #alumh 1444 | K49 1279 IR 4207 &t 2,720 |# it 1942 | ERW 5571 |&RtH 14,452
19 5% H 1,104 |#E#E[R™ 1,432 |E&H 1,263 AR 4,188 |JIlIgTH 2,686 | Kot 1,940 | KiETMH 5563 |FENET 14,416
20 HiItE™ 1,085 |f@Hm™ 1,417 |#B¥[R™H 1,242 |\ #iBm™ 4176 |¥EETH 2682 E¥mh 1,930 |IFET 5526 |[{l&ETh 14,366
21 #ET™H 1072 | K&t 1,417 | 1,237 |E&H 4156 | XKiEM 2,668 |f&fmh 1,926 |fAET™ 5493 |EE[th 14,273
22| B h 1071 =B 1,414 |HiE™ 1223 =B 4140 |BEARTH 2663 ERETH 1,926 |BHEMT 5451 |ELUtHh 14,156
23 #LiRH 1,053 |ELT 1,413 |FFeuth 1,222 Uiz 4,137 |&iR™ 2,641 |Eluth 1,923 |#LIRT 5417 BRFH 13,904
24 |38 1,043 | KEMW 1,406 | KiET 1,219 3w 4127 |IEETH 2,630 |;ETH 1,922 | ¥t 5392 |IKETH 13,896
25 lURsTH 1,042 | KR 1,406 |FRRFmH 1,219 tH#[RE™H 4,097 |tHEETH 2614 |BFFH 1,916 |[lLA™ 5384 |;EHATH 13,799
26 B&HM 1,016 L& 1,406 |FXHTH 1,218 | FRE™ 4084 |KFrth 2,601 |S%0th 1,894 |[LET 5363 ;&M 13,790
27Kt 1,014 |Ei&mH 1,404 |fhETT 1,212 |[&#FHF™ 4083 |fEET™ 2,585 |BXREATTH 1,894 |{&&T™ 5,350 |[ELLTH 13,779
28 B FFTH 1,012 i@ 1,393 |[RETH 1,212 [ de A 4079 |FHETTH 2582 |&WVE=EH 1,869 |#FTH 5332 |#LiRTH 13,695
29 FHET 998 |;EMATH 1,376 |REARTH 1,210 [JKFE 4074 |BE™H 2559 3Rt 1,821 [fhE™H 5320 |#¥iITh 13,657
30| =t 995 |Etath 1,370 |3Rth 1,205 #Fm 4,040 |#AITH 2542 |[LBT™H 1,820 |#ALlUT 5317 t=BTH 13,652
31 [ 991 |ERfFTh 1,368 |#alUth 1,197 |BHEmH 4039 |[Eumh 2541 |Ei&T™H 1,816 |SL\=FH 5286 |REKTH 13,322
R2BHER 990 |[EETH 1,368 |fEET™ 1,193 EREW 4,039 |BERETH 2532 fHFEET 1,807 |ERFEABX AR 5262 |[LETH 13,261
33 B 946 |FETH 1,363 |f@H 1,191 |[¥MITH 4,036 |[iET™ 2525 =Bt 1,800 |[ERET 5210 |f&fmH 13,240
34 B[ TH 931 (&t 1,359 |RI&TH 1,185 | K&t 4031 |K&HtH 2510 AT 1,795 |RELT 5182 |BEWTH 13,239
3B LET 919 |&ELVi=FTH 1,356 | KBrh 1,180 [{&&w 4004 |3Rth 2493 |FHEET™ 1,786 |;E#ATH 5,167 |BiIt&™ 13,217
36 &R 918 |fEET 1,341 |#ETh 1,173 | KiEMH 3953 |[ERBW 2479 [lETH 1,765 [;Em 5137 | EiI&t 13,106
37EE™H 897 |#ETh 1,337 |Z=#m™H 1,163 | BEAT™ 3952 |E&th 2,454 At hmth 1,735 |fB¥&E[RT™ 5123 | dthth 13,094
38 &R 889 |RIGm™H 1,337 | ER™ 1,161 |ZR#&RTH 3,936 |RitET™ 2,429 |)IGTH 1,726 |EBRFm 5109 |f#KHETH 13,080
39 ¥ UTh 874 |f@[th 1,327 |IFETH 1,157 & 3929 (WO 2424 | KBt 1,683 |FHE™H 5100 |H&HF™ 13,005
40 2 ETH 862 |IFETH 1,321 LA™ 1,153 | Ri&m 3,909 |JKET 2,420 |\FOFRLH 1,668 |dbAuiMm 5077 |Etth 12,933
M\ EET 849 |iEmh 1,313 |/kKFm 1,139 |BfFmH 3,898 |fAHETH 2,396 KB 1,648 |JIlI&TH 5057 |JKETH 12,859
42 REARTH 837 |JIli&vh 1,310 {2 1,131 |[FAHET 3,885 |=iATh 2382 |FEH 1,627 |FEH 5031 |[lLOH 12,811
43| lLAT™H 835 |FNFrLTH 1,310 |FEH 1,128 LB 3,785 |H[F™ 2,364 |F&ERT 1,605 |E%REH 4971 | #luvh 12,733
44 ERRTH 833 |HI#BT 1,309 |EULV=FTH 1,123 & 3,752 |EBi&TH 2,351 |HERHXER 1,601 | RI&H 4967 |fEET™ 12,632
45 ‘= 5TH 822 |HImHBXER 1,296 |JIlI&TH 1,121 i@ 3,722 |#LiEvh 2,330 |&¥Th 1,600 |f2REmH 4874 |Ei&T™H 12,395
46 = 0TH 796 AEE! 1,284 |ZHE™ 1,120 |f2REH 3,673 |z 2,321 |#&ETh 1,588 |#&ETh 4,844 FOFWTH 12,338
47 Ko 781 [dbEAmth 1,277 |&%0mH 1,106 |fEET™ 3477 |f8BT™H 2273 |fEET™H 1,583 | K& 4736 |F’EmT 12,146
48 ANERTH 774 |FEETH 1,272 |FHEM™ 1,105 | &%0H 3,470 |#aluth 2252 EHEHH 1,535 |REAT 4733 kBT 12,135
49 RIGH 719 |KETH 1,264 |[de At 1,080 |f@Hm™H 3,318 |f&Hm™ 2,162 |#LiRTH 1,522 |f@HH 4702 | K&Ht 12,016
50 ERET™ 714 |BREETH 1,241 |BBF;™H 1,069 | #LIRT 3295 |&H#HT 2,130 |HitBT™H 1,501 |KFET 4688 |ExIth 11,690
51|t@HmH 707 |FHET 1,211 |BRFEABX AR 1,021 #grlm™ 3,141 |[Fngruth 2,118 |BRZErth 1,434 |HiHE™ 4566 FEIRBETH 11,467
52 db i h 613 [#FTH 1,163 |[#FT™H 958 |#¥iuTh 3,110 |[LB™™ 2114 |#ETH 1,385 |BRERT™H 3977 |f&HT™H 11,291




